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Question Number : 1 Question Id : 7150535662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Learning is
HHM6D STETLIH]

Options :

A relatively permanent change in behaviour due to experience

ul L Plailsit gy rinsnLuils) L Smsuilsh BlensoTaresT | LrHnsHms

PULTL L smails 2 (hLisiTsm$l mgi.

Natural unfolding of inherited tendencies

wrysuflullsorsar wardiurnm@Gsst @wnsnsirs Glsusfliu® A nsl.

2. %

Same as maturation

pITFF esnL_susnsll GUTSTDS
3. %

An innate quality

2 _GTEMTiHE LIGHTL]
4, %

Question Number : 2 Question Id : 7150535663 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Thinking 15 a

FIb B S H60 6TaITLIZ)

Options :

Physical activity

0 I Q.;_ﬁﬂ'Lﬁ'Ll T&T HL 6 Lq.dii&'ﬁ'.lai

1. %

Emotional activity

o swri & gy usnLuilsoTsT HL sy Hans
2. %

Social activity

FApSTIW @;Lq_uua‘mf_u_ﬂsun'fm '.El_e:mq_éaa‘mas
3 %

Cognitive activity

DS BlSTLTUTET BL sulyHsnH
4. &

Question Number : 3 Question Id : 7150535664 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT correct relating to Operant Conditioning

% Lpau(Heussu D MIsT eiTnl BlUBGSmeansGLul L @ wssh GlsTLiurss

FITF LI T63T H60 6

Options:



It 1s type R conditioning

B3 B susms Blsmevenio.

1. %

Reinforcement comes after the act

GlFwsys @ UlsTeart sus)ayl HSs0 2 oL TELh
2 %

Behavipur 1s elicited

BL$sm5 blsusitlsumA DS
3.4

Response 1s voluntary

4% LIFls0 Feirert| FenFITSS 6 6u(HE DS

Question Number : 4 Question Id : 7150535665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The emotion associated with the instinct ‘eacape’ is
2 _swriey GlsTLiuTeT @ wsvLyswriFFullsir GlsusfliiiLim(

Options:

Anger

G&smulb
1. %

Fear

ZJI_IHJL'D



Wonder

o}, FFlwb

Love

sy
4. ®

Question Number : 5 Question Id : 7150535666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following is an unhealthy practice of assessment

F1psu(meusITsuN mIsT spsitml jerald () GlaTLTUTS 2 Crréaliuwnn Bl (psnD
Options :

Continuous Comprehensive Evaluation

. GartFfwrer wpup wHOTEH
1.

Incluzion of ereative work in assesament

Seralii_1gs0 UsmLLurmmet Glariursr Gsusmsvsnwt 2 I LHSH60
2. %

Balancing cognitive, affective and conative domains

3 % S mlsy, GlFwsy, weareripFF oy FwsunHDlsh FBleme

4.+



Confined to Textbook based evaluation

UTL L5550 g liusnLuilsorer wof G

Question Number : 6 Question Id : 7150535667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These theories revolve around the concept of Self

BE5s CHETLUTHISST "FT6T sT6iTh) HHHMHF FHHCIW FipsvF ).
Options:

Personality

Intelligence

9 Dleys Fniemip

Aptitude

BTL_L_LD

Interests

sl ({LILILD

Question Number : 7 Question Id : 7150535668 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Primary motives are associated with

SuliusnL GBrésssHler Gy
Options :

Sociological well being

FPSTI Hsl6UTLD]
1. %
Psychological well being
2 smadlisk FIi HasuTipsy
2. %
Philosophical well being
FHFIoULD BlSTLTUTST HLsUTLDEY
3. %
Biological well being
2 uflflwsd Fri BsUsuTLDEY
4, &

Question Number : 8 Question Id : 7150535669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT a criterion in insightful learning

F1psu (HsusiTauN) NI ST 65T M) Bl 6o w1 11615 H DEIST ST MM (LPeH NS T 60T
215y CHETITHTS).

Options :



The situation as a whole 1s perceived by the learner

(LpILSMLOWTET @FHPBemsvwjld SHEUTTTSY 2 _swrihg GlSTarer 1S mai.

1. %
Learner judges the relationship between various factors involved in the
situation
SHCUTT FHpsws 2 I 1RSI usGaum) Fnissnsrsd BISTLTHUD SIS
F Tt

2. ®
Making trials and correcting errors

v Ulemipsensrs il Glxaiissb GFrdlssain

3. ¥
There is a sudden grasping of the solution of the problem
Fflaselleir FTemausd Fl=blrems Yfinzl 6% TsiTsmHst

4. %

Question Number : 9 Question Id : 7150535670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to Chomsky. Language Acquisition Device enables children to acquire
Fribsglmwll Gurndssusnruils Quriflsnw 2 sTauTtisls GlETsTERD S nsir
FlubmasaianL G FT53WLTSGHEDS.

Options :

Ideas about the rules of language

GliTiflullsit aflFlssr CSTL TUTST %5555 s
1.4



Language consciously

Gloriflemil 2 swTiHs0
2. ®

Difference between various languages

usbGsumy GlurflssienGuwwrear Gaunium(h%siT
3. %

Language equally irrespective of their neurological status
Briotlwsd i $GFlemwcs GurHLruBSsTwsd sp(f GwriflenwdF FOTHS

4 x BOBIE

Question Number : 10 Question Id : 7150535671 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If a child appears taller as compared to her / his peers of same age. we tend to
compare the height of the child with that of their parents. The attempt made
here 1s to have a look into the

SsiranL it Luilgib wrenrey wrsnrallssmeralll 9H GUEMS 2 WTIDTSH
B mhsTed B G ybss Gbmsulst QunEoranr Ul (0 LTTéELD

eTUIUTEIE sTHUfD. @%@ GFuuiu@ib puhd STamUSl sTaTUS
Options :

Psychological factor

. o sralliisl & et
1.

Sociological factor

FUPHTIWS & TTewT
2. %



Biological factor

o uiiflwed s myswmt
3.v

Socio cultural factor

FUPSTIWL UsTTUTL (RS S TTsmfl
4. %

Question Number : 11 Question Id : 7150535672 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The research design to be used in a feedback study on the Effect of TV lessons on
the Performance of Grade VIII 15
OsTensdsTL Al urLSFlarrsd VIII -giib sugLiy wrsnreutsaflsr GlFwsdglmsir
GsrLiurar Uarayri L g semsrll LsTUuRSS Csusirig g
Options :
Observation

%6597 3 Temt| 5 560

Introspection

HETSNI6T S TTIUIH6D

Case study

BlSLpsuTiiisy



Experimental

BlF1 L sm
4 (Lpsm D

Question Number : 12 Question Id : 7150535673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Halo effect’ in a rating scale 1s a

‘anGear aflsmsrallsT HTous 9sTa

Options:

Cognitive bias

I pHBMVF FTTLY

Appreciation

urr(hHsv

Perceptual clarity

YevsirFTL F& GlHeilsy
3. %

Negative judgement

TSI LDEm DIITSST H1T LI
4. %

Question Number : 13 Question Id : 7150535674 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Veda based on her talent 1s offered a job by one of the world's best companies.
That 1s a dream come true for her. At the same time she 1s hesitating to join as
she has to leave her mother alone. The conflict faced by Veda 1s

Causraysd aumeni snsmwulst gyuiusmLuld 9F Bnsusand Gasms
QETHS55. F JUEHDLIL HATBATUTTSTHD, 2G5 Gsusmeruilsh
geummLiw srevw afll el Gaumsouilsy Cxr CauamBiGw sreirn SwSSD
B mbH3E. CousT THTESTHTL Fhs 1prsimur(

Options :

Approach — Approach

_— AEUGHPWD = S FDG ([P0 D

Avoidance — Avoidance

Falli 560 — FHallidHs0

Approach — Avoidance

2 ISP — Sallf SHe0

Avoidance — Approach

) w Sl $56 — IS Lps»D

Question Number : 14 Question Id : 7150535675 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



From the following categories, identify the persons who possess IQ less than 70

% psupld susmaHEnsaT /0 S0 Hmnaurar [Q o_sTsrsusnT HawmHulliysHayn.
Options :

Mentally retarded

LOSITEU BT &l (60T
1.¢

Delinquents

QpplIDpESsuT

Learning disabled

DD SDsIT GMDBS

Truants

4 % UeiTsild@ i 1b Gum(hlHsy

Question Number : 15 Question Id : 7150535676 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In planning a lesson, decision of deciding the TLM to be used takes place during
this phase of teaching
uTL$ma5 S LuluGurs spuliugler sThs0 Ly Blsmsowlsy #ipsumn TLM
oU uwsTUhSS CousmBHib sTsiTusns (piyey GlFiiw GeusirHib.

Options :

1. %



Inter-active

par|_Tig s HMLilSHs0

Post active

Uilsir sm U550

Sub-active

FriBlsnsy s0HLS 560
3. %

Pre-active

i1 &M L% Hs0
4 {Lponr GILYGS

Question Number : 16 Question Id : 7150535677 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Dominant style of leadership among the following

% 1ps) (REUSTSUM MIST &Y FlSHID uFHSHHD HemsvsnLoL] LiTemf]
Options :

Permissive leadership

SIS osiflE FHLD FeMs0em DS HlauLD

Autocratic leadership

5 & gﬁa&n‘ggﬁmmn‘mgmmmmg@mm



Laisezz—faire leadership

. SLLNMS $HDCUTEHS SemeUsm DS HI6ULD
3.

Democratic leadership

4 % BT FS HNeUsM DS FH 61D

Question Number : 17 Question Id : 7150535678 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the WRONG pair

SUDTET F)emsnTenilid 56T (hLillg &5 e|Lb
Options:

Erickson - Psycho-social development Theory

sTTl&F6iT — o_swallwsy- Fups T susni&FFs5 Garium®

1. %
Kohler - Imsight Theory
Gsransoi - 2 sTGHTEHS CaTiur®
2. %
Skinner - Operant Conditioning Theory
sSlsiTart — BUbSsmards@GHL Ul L Gsrium®
3. %

4.+



Kohlberg - Information Processing Theory

Gxsrsbluis — GlFilg) usLILRSSHIHL GHTuTh

Question Number : 18 Question Id : 7150535679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

When there 1s high similarity between two learning situations, the probability is

high for this type of transfer of learning

B smmed GHipslleh HyFswrer pnnisww ) HHSTL SNHDedlsh WTHDLD

B\ LDsUSM) & Tair suTIILIL
Options :

Definitely negative

HEWTLY LILITSH 6T LDEM D)W T 60T )
1. %

Definitely positive

STy (LTS GBI 0em D W TS|
2.

Either Positive or negative

CHI N MW TETS] S6D60FH] 6TH T LN M W T6IT F)
3. %

Neither positive nor negative

CHT W DIWITSTHID SYsD60 sTHT DN DIITETHILD Ss060
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Question Number : 19 Question Id : 7150535680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The NCF 2005 recommended making the curriculum flexible and appropriate to
accommodate the diversity of achool children including those with disabilities in

WLTHnISH SMaTTsis HpbamssT wHmID Ul USTIPSSS6TenID auTiilhH
BHLHNSHMETIYLD 2 sTeTLSHI BIBFLP6YSHSETsHLO WL 6T Fnlg- L,

OuUTHSSLTaTESTH UTLS5F1 L Sm5 2 maurss NCF 2005 uflsgimrsss).

Options :

only cognitive areas

Doyl UGl

both cognitive and non-cognitive areas

< Dlsy LHDID HYPYFTITH LUEHSlS60r

only non-cognitive areas

Symlay FTrrmliuEslssT wi(Hib

either cognitive or non-cognitive areas

Sy mlayliugs o s0a0H 9l FTTmluEsssr

Question Number : 20 Question Id : 7150535681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the motivational cycle, the starting point is the birth of a

RrwsyrssF FnFuilsiT GlSTL SFHBen6v sTETLIFI 3)sir GsTHMLD
Options :

Need

GHemesu
1.9

Satisfaction

5 % LOGAT IR 61 1) 6

Reinforcer

L6 (6 MIZ! wiLh

Incentive

o8 & Lo ATILIL

Question Number : 21 Question Id : 7150535682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Erikson's period of ‘identity Vs role confusion’ covers this stage of development
of an individual
STNSFMYDLIL STOSFI e wTsTd sTHT (V) UTSIrs Gy srerus)
sp(F Haofl BLIT suemi #4] Blensvsnil 2 _siTaTL_ &S],

Options :

1. %



Childhood
GBS HaILD

Infaney

(Lp&BT (& L01H6m S L1 LI (THsu LD

Adulthood

3 % (ST LHsuLD

Adolescence

4 @)smem oLl Li(HsuLb

Question Number : 22 Question Id : 7150535683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an attribute of a good facilitator
% psu HeusmaunmIeT ern FDHS6STH sulfibLS51E DauHSSTaT FwmLsiry
S Hmeur.

Options :

Knowledge of the learning styles

9 Mley GlsTLTUTsT SNHMeL LTswnf]

Slkill of pbzervation

- Heu sl HLD Fmedr



Discouraging attitude

. biloLil&ans @)wbs BLH05

Quality of Empathy

4 % SHTLOTET LTy

Question Number : 23 Question Id : 7150535684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Piaget has highlighted the role of the following factors in one’s cognitive make-
up and its functioning

(HoUT ST I Znlsney WPILMILTSEGLD Fnsnaryb wHnih GlFusTHns

sipsmemyb Fwrblzr lsiteumi STrentlHsmsd &1 1gSSTL 1g u]sTsmTi.
Options :

Biological inheritance, maturation and experience

o uilflwst wryuGuml, wpAliss, ur L sy
1.¢

Only biological inheritance

2 uflflwsd wryuGumy wi {Hib

Only maturation

3 % (LpSIT H6L L (RILD



Only experience

u L pjley i (Hib

Question Number : 24 Question Id : 7150535685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A teacher asked a child “f I give you 4 chocolates and your friend 3 chocolates
each. what 15 the total number of chocolates given to you'. The child wrote down
4 and 3 and said 7. The stage of cognitive development of the child according to
Bruner 1s

of yAfwT Fubmsullib “Brsr 2 aréE 4 WL mlsmeaTub 2 sTsnisnLi
BOTLsISE 3 WL Tilsamsriylb OaTHS5Te GloTssh sThSmar WL L TilHer
GarhssiulLar asrn CalLrr. 9555 Hybams 4 wnnin 3 Glurssn 7
ST STQBISMS). LehenT s s plsir L. &bz ullsr ofpsy

suemT &1L Blsma.

Options :

Iconic representation stage

2_(Heugawsl UrgiplglssaiumSSIb Uy plme

1. %

Symbolic representation stage

FOT_snL 1 HrslBsSsisutiumssn Lig Blensy
2.

Enactive representation stage

RlFrwsurHmisusnsl UrSpla SaisauliufSHI0 ULl B sna)
3. %



Sensory motor stage

yavar Bwsssamsl UrsdlBssssuiiufsaIn Uy Hlesna)

Question Number : 25 Question Id : 7150535686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the norms and standards given in the schedule to the RTE Act, 2009,
schools should have all weather building consisting of various facilities among
which one of the following 18 NOT mentioned

2009- gyib gy srenw RTE 511 gglsir GFwso gl L g5l @ulidl ool Hsrer

Blwiold, wHMID $TEFT &) tiusnLuflsd LsTersafls) sTebsoTLs
LI(6UBIsM 60 (61h (HLD 6THLsMLILI, sTEDET 6UFS]H (6L 65T Fn Ly Il S 19 L BISSIT

BmE5 Gsusir(Hib. HsuDHmIsT F1pauHauarsunmisT sitn GolodlLiuLaflssme.

Options :

At least One class room for every teacher and an office-cum-store-cum-
head teacher’s room

sp6uBlsuT (| 2 FATILHS G0 GHDHESSH @ auGliusnn Gsusir(Bib. Cwsyib,
Hemssn Lo g FrliwmHenLw ssmmuflsd 2s016us0%ApLd GlLIT(HST swsudsEHLb
BlLpid @) mss Gousim(HiD.

1. %

Safe and adequate drinking water facility to all children

STEUSUT LDTsMTSUT S (5 FHLD UTHISTUUTET GUTHILTT GipBT susrs] B mes
5 % Geusir(HiLD.

Laboratories for Science. Math. Social and Languages

gy Mlailisy, semflsb, Fopsailis, BTyl 2 Fu UTLBISERS G

- LI SEL L BiSsT 3)HEs Gausinr(pib.



Separate tollets for girls and boys
LD TERTeUT & EHBGHLD TenTedl S5 6hHbFHLD S0 SSaT LTSS SLPCILTIL BiSsT

B ms5 Gousir(Hib.
4. % '

Question Number : 26 Question Id : 7150535687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The abnormalities of this gland usually lead to extremely shortness or tallness in
people

Bnss sruduflst Gusunn FsTsnw Wsab o WTLTHT &s0FH (F6TarnrsT
Led ST HemaT 2 (HEuTHGHLW. &

Options :

Pituitary

- ApsMETILILY & FTLiL]

Thyroid

GsLwF &y

Thymus

H1pHHI5 SmswTinF FriiL]

Adrenal

9| svorswf THF FriiL
4, %



Question Number : 27 Question Id : 7150535688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to Kohlberg, during this stage the child's moral judgement is based on
the desire to obtain approval of others.

Gamsv Glutdlsit mpniliug GBS0 LmausSls Gwhmassisr Yn6BN w6
UnfALlmba saliyse Cunsusnarear oy Tsusssr g v uils gsnwowib.

Options :
Smge I
- L(msulb I
Stnge II
_ Lmsulh 11
Stage 111
ugRsutd 111
X i

Smge V

Lmsutb V

Question Number : 28 Question Id : 7150535689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



An individual behaving like an mfant to cope with stressful situations indicates

this defense mechanism
(5 H6fl BUTST BLSWF GHbHsmsmiuls GUTslHBSTsL Bysut WweT 2y 155F
&Ls0ls0HBSI S6TmaTF FIOTsM 5515 SNHTEHZIS BFT6TsuF NS T

BlFwsh WD ILF F113SSTL (HauSTELD.

Options :
Regression
| Uilsiterfl m& 10
Rationalization
5 % Frrésen
Projection
I L 161 6D
3. %
Repression
DL BHPsmD
4, %

Question Number : 29 Question Id : 7150535690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The process of gradual disappearance of the conditioned response is known as
LG LUl TS Wwen Db SUHUUTHanLw GFwspsnn sTsTUS]

Options:

1.4



Extinction

S IbgIGuTgsD

Spontaneous recovery

- BlwsvBlsmey LT 6y

Stimulus generalization

3 % FTenTLs0 GlurgisnwiuT®

Stimulus diserimination

4 % ErewrL sy urGur

Question Number : 30 Question Id : 7150535691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This type of institutions create a positive attitude among students towards
daversity
Buugliul L BnisueaThissT GBiTsnMILITST WeTLILIT6Ts)LDsH I
LISIT(Lp$ S SeTemiD suTiilhS LTewreutHaflsnL_Gw THLI{HSSHID.

Options:

nclusive schools

1 ¢ o SiTEmL_dbo I LI el &% s



linguistic minority institutions

BT FFAMILTSTeN LD [B1)]6U6ITHI S6iT

religious based mstitutions

0S5 By LiLisnL_Wile0 s 516 eIk S 60T

apecial achools

FAmLIYL1 LisiTerlHsiT.
4, %
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Question Id : 7150535692 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)
Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 7150535693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 7150535694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 7150535695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
s[HesFlemm sTsirLsns L Lswri &4 adlgliiug steusurmy Liflss Geausir(Hin?

Options :



- s + Fsmm

® + F
2 FHhlom LD Fism )

3 % ®0HEp + Fewp

SHsmwwrsr + FAsnm

4. %
Sub-Section Number : 2
Sub-Section Id : 715053283
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 7150535698 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
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Sub questions

Question Number : 36 Question Id : 7150535699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 7150535700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 7150535702 Question Type : MCQ Option Shuffling : Yes Is
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Question Number : 40 Question Id : 7150535703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 7150535705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 7150535706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 7150535708 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 7150535710 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 7150535712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 7150535713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 7150535714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 7150535715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 7150535716 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 7150535717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 7150535718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 7150535719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 7150535720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 7150535721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 59 Question Id : 7150535722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 7150535723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Section Id : 715053172
Section Number : 3
Section type : Online
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Number of Questions : 26

Number of Questions to be attempted : 26



Section Marks : 30

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053285
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Id : 7150535724 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions given. Choose the correct option

for each question.

Death 1s reported simply numerically-ten killed, three mjured. These faceless, nameless
dead seem non-human. It fails to arouse any deep feeling of loss or pain. The disasters like
the Bhopal gas tragedy. blast in Mumbai make us withdraw psychologically and resign
ourselves to the tragedy. The riots in particular cities have left people helpless. that 15, we
accepted death a reality to live with. If the reality seems threatening. the psychological
mechanism of denial 1s used: we say to ourselves it cannot happen in our city or to ourselves.
When tragedy strikes, the unconscious, sadistic and aggressive impulses are aroused in many
individuals. The gory details of tragic events are discussed clinically. news reports read and
compared. Many secretly relish such happenings and so discussions are held on them.
Though most will not consciously accept them. psychologists attribute such impulses to a
sense of irritation and depersonalisation which are common among city dwellers. This leaves

them immune to human sufferings.

Indifference to human suffering also stems from fear of law and the police. People shy
away from social responsibility due to the police and the law leaves people ncapable of
being responsive to human misery. Fear of reprisals 1s another important reason why people
turn away from suffering. The attackers generally have helper of the victums as their targets

because they are out to destroy every trace of being identified.

Sub questions

Question Number : 61 Question Id : 7150535725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What happens to the individuals when tragedy strikes somewhere?

Options :

Many never relish such happenings.
1. %



Most will consciously accept them.

o People will not shy away from social responsibility.

The unconscious. sadistic and aggressive impulses are aroused in many

4V individuals.

Question Number : 62 Question Id : 7150535726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What fails to arouse any deep feeling of loss or pain?

Options :
: Numerical reportage of victory
Numerical reportage of death
3 3 Numerical reportage of psychological impulses

Numerical reportage of Individuals 1ssue

Question Number : 63 Question Id : 7150535727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
What 1s common among the people living in cities?

Options :

1 % @ mechanism of non-denial

a deep feeling of loss or pam

2.

a sense of irritation and depersonalisation
3. .

reaction to human suffering
4, ®

Question Number : 64 Question Id : 7150535728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Why do people shy away from social responsibility?
Options :
due to their fear of law and the police

1. %

due to their busy life

3 % due to their own mental suffering

due to their conscious acceptance of the events



Question Number : 65 Question Id : 7150535729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the word from the passage which means ‘retaliations’.
Options :

impulses

reprisals
2, v EEERES

tragedies

disasters

Sub-Section Number : 2
Sub-Section Id : 715053286
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 7150535730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The main source of his problems 1s his inability cope with stress.

Identify the appropriate preposition to complete the sentence.



Options :

of

for

4 % off

Question Number : 67 Question Id : 7150535731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The good news 1s that more o1l deposits being discovered in the east coast
region.

Choose the appropriate word to complete the sentence.
Options:

1 % 1

2 o are

where

, WIS



Question Number : 68 Question Id : 7150535732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The customer placed an order with list of 1tems.
Identify the appropriate phrase/word to complete the sentence.
Options:

a exhaustive

5> % the exhaustive

exhaustive

an exhaustive

Question Number : 69 Question Id : 7150535733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The player practiced hard he could not perform well.

Choose the appropriate word to complete the sentence.
Options :

50

but



if

011

Question Number : 70 Question Id : 7150535734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Birds a feather flock together.
Choose the correct option to complete the sentence.
Options:
of

1.+

01l

3 % with

for

Question Number : 71 Question Id : 7150535735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Choose the appropriate verb form to complete the sentences.
A: When did you complete your Post-graduation?

BT Post-graduation in 2021.

Options :

have completed

had completed

completed

was completed

Question Number : 72 Question Id : 7150535736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Walking is good health.

Choose the correct option to complete the sentence.
Options :

1wuf



1o

off

Question Number : 73 Question Id : 7150535737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify grammatically correct sentence.
Options :

The thief had been arrested by the police.
1. %

The thief had arrested by the police.
2 %

The thief have been arrested by the police.

The thief has arrested by the police.

Question Number : 74 Question Id : 7150535738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The man 1s suffering cancer.

Choose the correct word to complete the sentence.
Options :

1. = with

5 % off

from

of

Question Number : 75 Question Id : 7150535739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the sentence.

I for the past two days.
Options :

1 % reads

5 % reading

3 % read

4 have been reading



Question Number : 76 Question Id : 7150535740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the statements (a) and (b) and choose the right option.
(a) The reporter asked the actress, “When will you finish your movie?”

(b) The reporter asked the actress when she would finish her movie.

Options :

Only Sentence (a) 1s correct.

Only Sentence (b) 1s correct.

Both Sentences (a) and (b) are correct,

Both Sentences (a) and (b) are incorrect.

Question Number : 77 Question Id : 7150535741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

Iand Ramu are childhood friends.

A B = D



Options :

A

Question Number : 78 Question Id : 7150535742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct question tag to complete the following sentence.

She hardly walks after the accident.
Options:

doesn’t she?
1. ®

5 % don’tshe?

do she?

does she?



Question Number : 79 Question Id : 7150535743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Choose the correctly spelt word from the given options.
Options :

comifttee

comimites

comunittee
3.¢

4 % committe

Question Number : 80 Question Id : 7150535744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Dhont 1s many other players in the world.

Choose the correct option to complete the sentence,
Options :
the most successful than

1. %

more successful than
2.



more successful then

successiul than

Question Number : 81 Question Id : 7150535745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the appropriate word to complete the sentence.

The company was taken by the rival company.
Options :

up

1. #

oOVer

in

4 % Ooff

Question Number : 82 Question Id : 7150535746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Choose the correctly sequenced sentence.

been/ Ambassador/ has/ Sachin Tendulkar/ named the ICC Brand
Options :
Sachin Tendulkar has been named the ICC Brand Ambassador.

1.4

The ICC Brand Ambassador. Sachin Tendulkar has been named.

2 %

Sachin Tendulkar been named has the ICC Brand Ambassador.
3.

The ICC Brand Ambassador has been named Sachin Tendulkar.
4, %

Question Number : 83 Question Id : 7150535747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the one which is different in meaning.

Options :

Attend the meeting or else you will be fired.
1. %

5 If you attend the meeting. you will be fired.

Unless you attend the meeting. you will be fired.
3. %



If you do not attend the meeting. you will be fired.
4, %

Question Number : 84 Question Id : 7150535748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the most acceptable form of subscription in Letter Writing.

Options :
v Yours faithtully

1.

Your’s faithtully

Yours® faithfully
3. %

Your's faithful

Question Number : 85 Question Id : 7150535749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Pick the objective of teaching English at Secondary level.

Options:

Write creatively and independently on general topics.,



Follow the instructions given in the target language.

Recite the small poems.
3 %

Write simple meaningtul sentences correctly.

Question Number : 86 Question Id : 7150535750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This question 1s easy to frame but 1t 1s difficult to evaluate its answer.
Options :

Multiple Choice Question

1. %

Essay Type Question
2.9

Very Short Answer Type
3. %

Short Answer Type
4. ®

Question Number : 87 Question Id : 7150535751 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

These courses are intentionally designed to utilize both mn-person and online class time

to achieve effective student learning.

Options:

Online courses

Offline courses

Hybrid Courses
3.¢

Virtual courses

Question Number : 88 Question Id : 7150535752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
*Appropriate headline’. This 1s a feature of the following discourse,

Options:

Choreography

Debate



News report
3.¢

& Speech

Question Number : 89 Question Id : 7150535753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘To get students acquainted with the lives and deeds of great men and women.” This

spectfic aim 15 achieved through teaching:

Options:
Letters
1.
5 Biographies

News articles

Fiction

Question Number : 90 Question Id : 7150535754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The following skills can be developed through mock mterviews

Options :

Reading and Writing

Speaking and Reading

Listening and Speaking

4. % Listening and Reading

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Mathematics

715053173
4

Online
Mandatory
30

30

30

Yes

0
1
715053287

Yes



Is Section Default? : null

Question Number : 91 Question Id : 7150535755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Three metal cubes with edges 9cm. 12em and [5em respectively are melted
together and formed into a single cube, then the edge (in cm) of the resulting

cube 1z
Ocm, 12em, 13em eflsfibyseneniiw 9f 2 GaTsd SMFHTHMS PATDTS

2 m&& 9Gr sarFgITLrS WrHHlarTd) 56T afllansrea) (cm-F)s)

Options :

Question Number : 92 Question Id : 7150535756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In a right angled AABC, right angleisat A,if tanB = 1,then sinBcosC =
(m susugl Garemrapsitar AABC @)sv susvgy Gamemrid A-3)sb, sTslrmmsb
tanB = 1, Jlefrewri sinBcosC =

Options :

3.¢

4. %

Question Number : 93 Question Id : 7150535757 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If A = {x: x is a two digit natural number such that the sum of its digits is 9},
then the number of subsets of A 13

A ={x:x ersirugy @raw®) Bevss Funsns sTantentTs (B)HHS T, 2 H6iT
Blevssmisaflsr m L H505Tems 9}, A (36T H1smemrs (3105 S el 65T

sTemTemTHema (Subset)

Options :

133256



LN
[
[~

128

1024

Question Number : 94 Question Id : 7150535758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

i i —-12 & . ]
The product of the additive inverses of T and add the multiplicative

, =g .
inverse of ? to the product. then the result is
—12 6

-5
g Vi sTglTwsnnF CFisamauilst ClunmsssCa5TH = B)sir G HH SV

sTEITwsmDL Blumsssmasd Gaisamsy (Multiplicative inverse) ayssir 1pigey

Options :
128
128
2 35
401
280
3. %



401
280

Question Number : 95 Question Id : 7150535759 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
HCF of 1860 and 2024
1860 wmmub 2024 @sir HCF ersitLig

Options :

[

Question Number : 96 Question Id : 7150535760 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If0 < 6 < 90, then cot?28 + cot* @ =

0" < 8 = 90 ersirmmev, cot? 8 + cot* @ ereiTug

Options :



cot2 8 + cosec* @

cosec* 8 + cosec? 6

cosec? 8@ — cosec* @

cosec* 8 — cosec? @
4.9

Question Number : 97 Question Id : 7150535761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If A = {x:x is an even natural number less than 30},

B = {x:x isamultiple of 7and 7 < x < 40},thenn(A—B) =
A={x: x 30 510 HewpsuTer B WDHNS ST FnL_},

B = {x: x 7 @)sir Qumssssd, wpnib 7 = x = 40}

Lsireari n(A —B) =

Options :



Question Number : 98 Question Id : 7150535762 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mathematician who evolved the formulae for finding out the
circumference and area of a circle 18

(5 sUL_L SFI6T LTLiLeTe) WHMID FDDsTensud Heim(HLilg (1015 H % rer
SUTIILITL SNL 2 (FeUTSHE L &H0f5 Cams

Options:

Euler
B w,soit

Euchd

Bupsedl

Arvabhata

gy flwa LT
3. %

Archimedes

2y, TS B 1= 610
4. &

Question Number : 99 Question Id : 7150535763 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

logg 3 + log,, 0.0001 =

Options :
-5
1.% 2
4
2
2. %
—7
3.v 2
L
2
4. ®

Question Number : 100 Question Id : 7150535764 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two dice, one blue and one green are thrown at the same tume, then the
probability that the sum of the two numbers appearing on the top of the dice
15 a prime number 1s

EHF6T HMID LFmFwTer B)ram{h sTLsSL mLsmsT pGr CHrszls

GurHnGurg sTLsSL L Saflsr GuHuriitild) STeRTliupiD pSsTanLD sTsmT

Options :

5

1 % 36

:Yes



=R

2. %
£

3 % 18
B

4.« 12

Question Number : 101 Question Id : 7150535765 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A shopkeeper earns a profit of 3 by selling a book and incurs a loss of
25 paise per pen while selling old stock of pens. In a particular month
shopkeeper earns neither profit nor loss. If he sold 63 books. then the number
of pens he sold is

P FMLEETTHSHS 61 ewsuilsysirsmr Lsnipw GuarTssanst aflhFHh Gurg
([ Guarrallsh 25 snusT BL LD THUREDS. 20 YF555ms allnhFHwnGurs
3 epumil soTUD FMLEFEDF. [ GUUULL wrssFd SMLESTTHSEG
BLL(ph soruplt sTHULallsvsmsy. asui 63 ysssnismer allhmlmbssd

sTHFHsmar GuaTTssamar aflh Y HLUUTT.

Options :
1% 750
756



856

L

8§50

Question Number : 102 Question Id : 7150535766 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In a garden. there are mango and orange trees. The number of mango trees 1s
8 more than twice the number of orange trees. If the number of mango trees
18 108, then the number of orange trees is

S CSTLL 5360 T WHMILD 2, TEHF LOTEISET 2 6T6TsT. &) TEhSH LDTHIS6T 5T
sTenmamt | demEenil el @) reir(h) WL BIE 9 Swrs 8 W kST 2 sTarsr.
108 wr wrEiISsT 3)HHSTs0 6T5S6MT G, TEHSF LDTHIFHT 26l sTear 7

Options:

33

h
.

L]
]

LA
(o]

4, #

Question Number : 103 Question Id : 7150535767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the exterior angles of a triangle is 108 and the interior opposite
angles to it are In the ratio 5 :4. then the ratio between the greatest and the
smallest angles of that triangle 1=

2m wiGsrawmgslar Geausfiiyn Gsremrd 108°, wHmiub 2 st srali
Caremriussilan aflslsn 5:4 e gw. wsGsrenrsglsr Gufiu wHmnd Frjlw
GaremrhiSsisr iS50

Options :

1.¢ 7°

[~
[N

Question Number : 104 Question Id : 7150535768 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose a correct statement related to natural numbers.

@ wsoLITaT sTETHST HDSS FmDHDIFsMeTs BlHT 6y BlFILIsyLD
Options :

1. %



All prime natural numbers are odd.

ATELENT (WU LITEIT LIE T 4TS (GIHLD saMsm ML Lisw LI T 55T amsU
LD spMeH D

Sum of two prime natural numbers is always even.

@ rswr® FwsbUTaT UST sTamHs it GlsTems sTLGlLIT1pSILD

BrlswLliLsnL sTeiTewITs (3)(HbEHLD.

All even natural numbers are composite numbers,
ATAL AL T @u_llsijuwur @u'l'_mx_uusml_ 6TE00T 3 (SIHLD HEVEMEU 6T 60T F 6T T (FHLD.

3. %

The sum of two odd natural numbers and one even natural number 1=
always even.

@ rewr(R G wsbuTsT pHsHDUILISHL sTERTSEHLD i Biwsvumer
@ risnLlusnL sTeamemid sTUGlUTRHID Gl UusnLrTsGeay

B (/& B1b.

Question Number : 105 Question Id : 7150535769 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If the curved surface area of a cone is 204.1 cm? and radius is Sem,

then the vertical height of a cone (in cm ) 1s (Take m = 3.14)

2 FbLisr susmaraurar Gupuriy 204, 1cm?, sy b, Sem,

Sy GwsToTsd FmibUler OFkiEssTer 2 wmb (ecm-G)sv) (Take m = 3.14).
Options :

1% 13



N

11.97

Question Number : 106 Question Id : 7150535770 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose an arithmetic progression from the following

FLpsumeusrsuNilsh L sb BlsTLsmrd GlaTfey G Fiiweaylb

Options:

—14,44,—-74,104, ______.

Question Number : 107 Question Id : 7150535771 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A circle with radius 18em is inscribed in a square, then the area of the square
(in cm?) s

18em sy rupsirsr (H sul_ L SSlsd ph FHITD Glurplésiul Hsrers).

UL wsToT YHsF FHITSS T LTty (cm2-F)sv)

Options:

296

Question Number : 108 Question Id : 7150535772 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A quadrilateral ABCD in which #BAD = #DBC = 90°, AB = 12 em,

BC = 20cm. CD = 25cm and AD = 9cm, then the area of the quadrilateral
ABCD (in cm?) is

ABCD sreirm prmsrsglsv ~BAD = £DBC = 900, AB= 12 cm,BC = 20cm,
CD = 25cm wpnib AD = 9em gyiiugQusirmrst steirp ABCD prmarsglsir

uroy (cm*-@sv)



Options :

3 204

4. % 108

Question Number : 109 Question Id : 7150535773 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The mean of all prime numbers between 40 and 70 1s

sTEUEUTL LIS sTswwr st isir Frmariuyn 40 @b 70 S5 @)swuflsv

Options:

51,67

61



Question Number : 110 Question Id : 7150535774 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The sum of the reciprocals of Vani's age (in years), 5 years ago and 7 years

- T T ' ' .
from now 1s 5 If present age of Vani is x’ years, then this situation can be

represented in the quadratic equation as
surenf wlsir SemsvSpTeT suwSleT GlETens (sumHLBiHaflsd) 5 suHLBISEHSES
wpsirart wHmib B)siTiledlwHs1 7 sumHLBigsiTs0 %. sursmfiuflsir HELTsNS W

UG X eu(HLBISET. Uiy Blwsitomsh B)hsF Gy &) muiyF
FIGTUTL T&HS & 1pau(HausmeuD s sTenss HUlES (Lplgujib.

Options :
 x2—Tx+44=0
1. %

fy A . -
5 X 7x—44 =10
- x2—-11x—-26=0
3., %

2+ 11x—-26=0

Question Number : 111 Question Id : 7150535775 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The distance of the point P (12, 5) from the origin is (in units)

CBTLS55560 mBHI P stsirm ysiremuilsir (12, 5) Gsremsvsy (in units )

Options :

A

13

17

Question Number : 112 Question Id : 7150535776 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

4 men can do a piece of work in 52 days. then the number of days 13 men can
finish the same work 1s

o GUOUC L Gausnsvsniu 4 BUTSHT 32 BIL_S6flsd GlFIleuTT ST

U QwsitpTsy 13 puisst 2G5 Gauensrsniu sTHSmaT HTL 6l 60

(LpLg LILITTT 6T

Options :

16
2. v

:Yes



Question Number : 113 Question Id : 7150535777 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose an INCORRECT statement related to sets.

GlSTFHLULSET BISTLTLTET SsunTar & pDshms 6lsisy GlFisyLb.
Options :

Every zet 12 a subset of 1tzelf.

sl GlauT(h GIFTHUYD YSsmismL_il FlsnewTs BT FHIY

The set of letters in the English alphabet 1s a finite set.

S BB  sTIpSFZISalsT GETHOY susHTumDSGHL UL L sTIRSHSHIS

GHTFHLIL
2. %
The mtersection of any two disjoint sets 1s a null set.
TETeug Frewh psIlmFunpm GlsTHUYS sewrhisersr Glsul (b
Gleunmis GSTFHLILTEHLD.
3. %

The set of integers which lie between 4 and 5 1s an infinite set.
4 woHmib 5 b TOTSERGISMLIL B HEGHD (PAD 6T H6I 60T

4 v OBTGULY 9 sTvsmewDHD GISTEHLIL-



Question Number : 114 Question Id : 7150535778 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
An observer of height 1.5m 13 15meters away from the foot of the tower, the
angle of elevation of the top of the tower is 45 from his eye, then the height
of the tower (In meters) 1s
1.5 FlL T 2 wrapsrsr spif UTTsnauTsTT CHTYTSSIHT 913euTTs 560 HhHS
15 61 LT Gsrensvallsh o srermi. ojsumenL il Seamserisd Hhs G5Tyrsslsr
2 sAssTar e Garewrn 45 UURAUSTDTY HH5E GsTYTSI T
2 WD sTHSemar WL LT

Options :

| 165

Question Number : 115 Question Id : 7150535779 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



“A student was able to utilize the probability in his daily hife”, then the

academic standard attained by the student 1s:

"$p(H LOTSMTAUST j6uHemL Il HeTHTL suTipaflsd sumliyFensTl LwsTU{HSS

Py Fng" iU CisTNTs b5 WrenTalaisnL i ol gL allsr ST

Options :

Reasoning and proof

& T T 60T (LpLD B, & T (LpLD

1. %

Communication
5 % H(HSHIL LflnTHDLD

Connections

(3) smewTLIL|% 8T
3.¢¥

Visualization and representation
. ST FUuBF5s0 wnnin Ulrsplssssuib

4,

Question Number : 116 Question Id : 7150535780 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The "Propositional Phase" is related to this learning approach of
mathematics:

"FHSBIHT BleNVWTHATH 6T6IT LI Ho0TS5HMSH HNHMISEISTeTouS| 6TH60T
Gl TLTUTET 9am&psnDaniul Gurnsssl



Options :

Collaborative learning approach

L THH EDFHLD s (& ([LpsmD

1. %
Problem solving approach
FlEsmevd SHFHD 9 em|(&H(psnD
2. % =
Concept mapping
% (HS3I aflsuTsnenT
3.¥
Experiential learning
2 sILIsu L Tau LD Tesr Sebadl
4. % i

Question Number : 117 Question Id : 7150535781 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Read the following pairs related to “aids used in learning mathematics and

activities that can be done with them”.

“sentlHl NG CuTs LwSTURSSULMHD Hisnans sHalssEhn HuHEnTH

QFiw (pyAn CFuUDPHDSERL CFTLIUTET B)msnTsmers
Qs TLTyubhS 5.

A)

B)

Abacus: Addition and subtractions of decimals can be taught.
STEMTFL_L_LD: $FID LUTHBIFM6TS Fn L (HBeV, sflssmevd snLilss 1piguyb.
Grid paper: The area of a rectangle can be calculated.

S L &% ST BT FHTSS T LITLIHLS SIS (Lplg LD,

Fractions disc: It can be shown that as the value of the denominator
inereases, the value of the fraction decreases.

Llsirar sul_(): suFH& G0 sTanTamilsir WHIY YFsTSHD GuTs)
UlsiTar S Bl6T WL HswDULD sTHTLMSS STL L (plgiLjib.

Cuisenaire Strips: Multiplication and divisions of large numbers can be
done.

Culsenaire Strips: gy Fswrear stamaamstll GlLnmssa)b o Fssa)h

p1guyid.

Chooze the correct pairs/ answer:

Frlwrer @)mansmsrs 651a) GlFiwsayb/ aflsnLssT

Options :

2.

B & D only
B & D o fpib

A B &'.' C 01113'
A B& C ol @

A, C& Donly
A. Cé& D wr_ @



ABC&D

Question Number : 118 Question Id : 7150535782 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements related with teaching and learning plan:
snmsd sHLES0 L SFDsTar SpsauHlb FmnHmlSemaryl LigSHseaLb.
A} A teacher designs the lesson plans according to his ideas to organize the
teaching and learning experiences for the topic chosen.
S FAfwi, Clafeay QFwOUL L Smeotilile) S6TaenL i 6TaiTenT S s

Sy liusnLuils) sHD& sHUSF0 YaIUSMSSH SHUSDGLI

UTL$BI L 05 eulgueniDSHmT.
B) The year plan should be prepared at the end of the academic year.
Fevadl g ey eir @ misluilsd gy amhs S L Smss wTTlEs CausmmHib.
Choose the correct answer:

Friwrar allmLsmws C5flsy QlFiwuam
Options :
A 1a true and B 12 false

_— A #f B ssum)

A 1= false and B 1s true

A soum B #1
2. %

Both A and B are false

A opmib B yib ssum)



Both A and B are true

A wpmnb B wyib &M
4. %

Question Number : 119 Question Id : 7150535783 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the words in the mathematics question paper that enable the
students to think and respond mathematieally among the following:

F pauHeusiTuHMIST Senf5dh Cosrallsrarlasiar GFTHFHNST LTRTSUT SH6iT
BIsnsTaY Tl hEl DTS FHa(h) SenfSh surTwilsvrsl udlsvalss 2 Hal
Ylusmsy

A)  Analyze
LIGUUmiS6D

B) Confirm
SRR £

C) Proveit
9 Bl

D) Give the reason
STrawrid GlsT(H)

Choose the correct answer:

Fhiwrer ailnLsmws G151 ey CFiis

Options :
A & Conly

- A& Cwlpo

2.



A B& Donly
A B& D wl @b

B.C & D only

B.C & D wi_(hib
3. %

ABC&D
4.

Question Number : 120 Question Id : 7150535784 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements related with the mathematics curriculum:

SamiBL UTL S L b GFTLTUTaT S1pal(Hd fa DDLU LigSHea|b

A) The present mathematies text books of the School Education. Telangana
are written 1n toplcal approach.

QssBisTarTalsy)stsr UsTsfls SsallESTar SNHTHS SentlSHLI
UTL L& SSBIS6T Same0liL] s & ipennullsh sTipsLiLL (Rsisms.

B) Extensive learning of mathematical concepts and topies takes place in
the concentric approach.

Qurgmw gem)E s nullsd senflafds &HHHIH6r wHDID
Samaliyserisd allflsurss sHD Bl GluS D).

ChGGSE‘ the correct answer.

Frwrar aflsoLsnwd G51ay GlFiiwayb
Options :
A 1z true and B 1s false

| % A 5 B ssum



A 1s false and B iz true

A s6um) B #1

Both A and B are false

A wHmib B yib ssum)

3. %
Both A and B are true

. A wpmib B wib i
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Question Number : 121 Question Id : 7150535785 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The period of revolution of the planet Venus is (approximately)

af sty S rs5H60T FOHMID STV BY6T6Y FLOTTTS

Options :

S8 days

88 BTL_seir

687 days

687 BT S6ir

12 years

12 prissir

Question Number : 122 Question Id : 7150535786 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To find out the density of any liquid. we use
P ([ JTauSSlsT LTSI MLS STl Dlsusn @ BT LIWsTLH S516u5]

Options :



Hydrometer

| v BT oL 55! omsf]

Barometer
. HTMHD(LHSLDT6T]
Odometer
GlETensvsy Lo TsuT]
3. %
Hyvgrometer
4 HTHD FT ojaTa

Question Number : 123 Question Id : 7150535787 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The focal length of a lens suggested to a person with Hypermetropia is 75 em. Find
the distance of near point.

STTUUTTENS HMDUTH 2 shi i (5 BUBSGHU UNBSIHTESLIULL. SETeNTTY
sdlsvsmsuudlsit urtensy smay 79 GlF.16 staflsd gy mETmwulled F)HSGHW Lysisimuilsir
ATTEMSS HenrLmls.

Options :
-F1 5 cm
-37.5 GF.b
1. %

2. ¢



37.5em

37.5 QF.f
18.75 em
18.75 @&
3 %
~18.75 cm
~18.75 G&F.F
4, %

Question Number : 124 Question Id : 7150535788 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement among the following.

LilsiTeu(HLD T i) MIH6ITIS0 HouNTETNSHS ST 15,
Options :

Newton's first law of motion apply to a single body.

Bl L siflsir pss0 Fwss allgl pm GlurmenrsE wl HiGw GluTmhSHILb.
1. &

Newton's second law of motion apply to a single body.

Bl L aflsit @) renrLmoug) @) wss allg] m GluTHensE Wi HiGw GlurmhHILD.

2. %

3.v



Newton's third law of motion apply to a single body.

Bl L efler epsitprsugl Qués afls m Clurmens® wl HGw GlurmbHID.

Newton's third law of motion applies to an interaction between the two bodies.

Bl L aflsit apsiroreug Buwss aild Fraw®h GurmlsensEn GG

2 6irem QBT TS G GUTHhSIb.
4. %

Question Number : 125 Question Id : 7150535789 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In series connection of resistors, which of the following remains constant in the
circuit?

2 Wt s &malluilsr GsrLt @amsnriiils sta Wsranmit ursnsuis
Bansowrs 3 méEn?

Options :

Power

24D D5V
1. %

Current

Lmﬁ.'ﬁ'f-ﬂ:.i |
2.V =

Electro motive force

WsTamrThHDsL 2ars s ailns
3. %



Voltage

Ll SHTeOT (LD S HLE
4. %

Question Number : 126 Question Id : 7150535790 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identafy the correct pair of ore and its metal among the following

LlsiTeumeusrsummisir FTLTET $TH WHDID 2 Gors @) smsnTan s S,

Options :

Epsom salt : Mg

sTUFD 2 1 : Mg
1. %

Cinnabar :Zn

2 SefwOGluTmeT (Fssrerumi) @ Zn

Haematite ;: Mn

- B miy UN56shEs0udn ursnn susna : Mn

Rock salt :Ca

ursnm 2 11y : Ca



Question Number : 127 Question Id : 7150535791 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the values of ‘X' and *Y" in the following chemical reaction.

Ulsirsupld CsuBluilwsd wrmpsHlsy X' wnmib Y’ @6t wsllemusd samrpls.
Na,C0, + X HCl — Y NaCl + H,0 + CO,

Options :

b2 b 5 |

=2 vl

Question Number : 128 Question Id : 7150535792 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The rate of diffusion of gases 1=
SUTIL&HSH6I 6T LITsusD ol AlSLD

Options :

higher than that of liquids or solids

FITsuBISsT WHNID FLOCUTHL Semer el 2y HH1D
1.9



lower than that of liquids or solids

FITaUBIS6T WWHMID FILUIGLTHL Ssner afll_& FHsmmey
2. ®

higher than that of liquids and lower than that of solids

FreuBISsnsTalll 9 FHWTarTHl; SLUGUTHL SmsT allL_$ FsnmeuTems)
3 %

lower than that of liquids and higher than that of solids

FlTsuBissmsTallL& FHennauTars); S rausiSemsTalll oS W0TaT5)
4. %

Question Number : 129 Question Id : 7150535793 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Rancidity 1s a/an

(psmL_ BTHMLD 6T6TLIHI
Options:

Precipitation reaction

wenptGlumiflallsr stHliallsnsr

Reduction reaction

. &5 sTHTallsner
2.



O=xidation reaction

2 &FoGarhHn sTHITallsn s
3. ¢

Neutralization reaction

FLUUDBSH S0 sTHTaflsmar
4. %

Question Number : 130 Question Id : 7150535794 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Atomicity of Sulphur

FoULITISIT | s00) 6T60T

Options:

Monoatomic

DT S|am) sTeaT

Diatomae

R 9y aW)] 6T &30T
x T e

Triatomic

APSTMI S| sTewT

Octatomic

6TL_(B) ) som] 676007



Question Number : 131 Question Id : 7150535795 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The maximum value of “I" for n=35

n=354&g "I" gyslsu’F ws iy

Options:

Question Number : 132 Question Id : 7150535796 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

How many electrons do Group III A elements loze to form stable 1ons?

Fup I A uilsb @) mE@ apsvsam nissT stdsemar LWsTaramibsanar B)Lbsl

BISNSVILITET 9 SN HEnsT 9isHLDS FLD
Options :

1. % 2



2. %

1
3. %
4.9 3

Question Number : 133 Question Id : 7150535797 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

These blood cells move like amoeba to attack and destroy by engulfing the foreign

materials inside them, and are called ‘scavengers’.

LTE YBHM! TeiT Dl HHPSFLILHID )5S BT55 yemidsHst Huur Gumsy
Haunlsit 2L s0sv &) md i ClausfiutluTmLsmers sT558] 9 flsEin. s

Options :

Erythrocytes

& (HBF FlouliLign)sssir

Monocytes

, spnsmD 2wl s Hsir

Lymphocytes

Blewrh i 2wl Tem) &3 60

4, ®

:Yes



Eosinophils

B3 Clsusirersm)

Question Number : 134 Question Id : 7150535798 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Identify the most forgetful animal

NS F S ApsTer allsuBiFlenars S DS,
Options:

Mouse

eTal)]

1. %

Cat

LL 60T

Rabbit

(LpwsD

Squirrel

& 63T 150
4.v

Question Number : 135 Question Id : 7150535799 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Amoeba keeps on changing its shape by protruding out its body. These projections
that help it in 1ts locomotion are called

SATE| 2 L IbsnUl (PsiTermsd BLlg YlUT SaTs suigsudens wrHmls GeTsTang.
I BusssInG 2 saydlp Fbs angsn wTHDb YpssULHaug)

Options :

Pseudopodia

1 ¢ GumsflssTsd

Tentacles

2 s FFS0CSTHSH

Fins

EAICUNINET

Cilia

BishTGsFRISsT (Flaflim)

Question Number : 136 Question Id : 7150535800 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Nimbin. an alkaloid which 1s used as an Antiseptic 15 produced n the seeds, bark

and leaves of

Fpblsrdaturst vwstu@n BT s STaur sumssetlsy sTewrliufin
BEFUGUTHsT FwrflEsl vwstu@n almsssr, UlspLser wWHNID F)snaHer

FleWL_ &G STauTih.
Options :

Cinchona officinalia

FfarGararT gLl faradlsv

1. %
Papavar somniferum
urusui G FmibestGlLTLD
2. %
Azadirachta indiea
S FTHTFFST F)awmigsm
3. ¢
Datura stramonium
SHSHITT sv0OL_TT S0 Teufl b
4, %

Question Number : 137 Question Id : 7150535801 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The type of reproductive process seen in Hydra 1s

Bosallswrar Bearubumss wsmpsow Gul L Glaul L suer(ld HiCurbLils
Blar5 3]s STaTEOTID. YHS sumS



Options :

Regeneration

L (61 (TsU T& S LD

Fission

2 WiremiEHemars FnmiubhSHe0

Fragmentation

FNFN| FnMIBTTSS LGS 560

Budding
9| (HLD LS 6V

Question Number : 138 Question Id : 7150535802 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
One of the following does not belong to classification of cell types suggested by Woese

Ulsitsumausmaunplsd psirmy, Geaumits &Pl GlFsd) sumsluBSH50 umsuilsd
GFrral. 95
Options :

Monera

GurGsaTTT
1. %



the Archaea

S Tanwm

the Bacteria

UTSlefwr
3 %

the Eukarya

BT IT

Question Number : 139 Question Id : 7150535803 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This vitamin helps bones and skin in remaining healthy

sTEYIDL|&H6T LommIh GHTemsy BSGHT(H smeusb sl (HEFHLD smeul’ L 1lsir
Options :
Vitamin ‘D

smeul_L_8lesT ‘D
1.4

Vitamin ‘E’

smeul_L_Ler ‘E

Vitamin ‘A’

smeul_L_18ledT ‘A’



Vitamin ‘K-

smeul_L_t8ledr ‘K
4. %

Question Number : 140 Question Id : 7150535804 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The laziest of honeybees are

Gxaf sHaflsy asF Grrbusmer GsHet]

Options :

Worlker bees

0
- uswils Gxent
Queen bees
Trewils GHeaf
2 %
Drones
=) eir GHeuf
3. %
Nurse bees
4 % @.ﬂfaﬂrsﬁ.’ﬁa {grc'_r}&'ﬁ'f?

Question Number : 141 Question Id : 7150535805 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Unlike mitosis which 1s a continuous process for division in most of the cells, meiosis

occurs only

ue BFdsafisy QsTLT flays s srramurs FHsEn W GLraflsn (Gt
u@ELLY) Gursd ysveuTwsd WGwTHAsiv (FHsTmeb LFLIY) B Glunisus)
Options :

1 blood cells

Blr$55 BlFsvssilsy

1. %

during the formation of gamates

urslars GlFsussflsit o (Haursss ST GUTH
2.

1n cancer cells

YHmIGHriiF GlFshssiflsd
3. ®

during cytokinesis phase of all cell divizions

sTesUTF BlFsh Lilflsysaflsit Gurgmrer 2 ullremFsrny Ufss
4, %

Question Number : 142 Question Id : 7150535806 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following causes peptic ulcers?

HLD e sTHLL & HTTnTTeTH 7

Options :

Amopeba

ST

1. %

Helicobacter pylori

GlansflGarGusLi snuGsom

Leishmania

60 sig G Losaflwim
3. ®

Staphylococel

s T U CaorGsmdd
4, %

Question Number : 143 Question Id : 7150535807 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Plants respire through

STEUTBISET B H6ITeLpsvID FouTHSF T mer

Options :

lungs

| % Hism rufrsd



Galls
GlFeysir

Stomata /Lenticels

BlmevszisnarsblsTHiy [ sThnissiensT (Blsusirg blsb)
3. %

Xylem

STHMIS T (BTE5L555 HF)
4. %

Question Number : 144 Question Id : 7150535808 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Reticulate /Web-like venation 1s seen 1n leaves of this plant.

susnsliLilsiTamsdsalr / susmsw GursiTm BribUsnioliy B ensossT STsnriu(Hib STsurid
Options :

Sorghum

GFTsmDd

Paddy
Aty

Jowar

Ggomsut (GFTsmsusns)



Cucumber

Glsusiremn s & miil
4. &

Question Number : 145 Question Id : 7150535809 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In this science teaching method. the students are encouraged to become explorers.
Bh5 Hnlaillus sHLISS0L pedDILT WTswTsutHer G 916yl LD
CunolsTsTuNTTS YADTTSE. HS 1PsHD

Options :

Heuristic method

UL pjley FTiHS 1pswm
1.¢¥

Demonstration method

allerd$ls Fmnib wsmm

Lecture method

- silflaysmT (Lpsmm

Lecture cum demonstration method

ailflayen T WHNILD ailsTésSam nIb (LpsHD



Question Number : 146 Question Id : 7150535810 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 15 INCORRECT when the measurements of angle of
mcidence and angle of reflection obtained are not equal while students conduct an
experiment to prove the laws of reflection of light?

Ulsitsu meusmsupilst wrewrsutsar gefliurasnsot upmin Gersamear GlFiyn Gursg)
aeflss311 9| urildlsr Bg uGn wspullst garayn | urtdls ul B3 Flmwodl
SIUUOURD geraylb FTFWWLTS BDTEMSS GUSG0 SUDTATS 6TH.

Options :

The experiment should be conducted a few more times so that the correct results

are gbtained.

Bb3F GrrasnariTarg FWTET 1pigsy subsusny B)srapid Fs FLsnsy

GlFwuL Geusim(Rib.

The teacher should complete the experiment.

G ATl gbsF GFrssnarsniusd BlFi%H 1piy55 Geusir(Hib.
2. ¢

Reasons for poor experimental results should be discussed.

FOUMTHT (1plgsysHTar sTrswrd unyl ailsurglss Geusnr(Hib.

Precautions to be taken and factors should be identified by the students.

peTblamFFTlsmas BLallysmE sTHUUCSTH 2 F6T STTTHMS DT HTUT H6iT
&1 I I TREDTE T



Question Number : 147 Question Id : 7150535811 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Paychomotor domain 1a related to

2_sr.0lFwHSeTD BlSTLTLsmLWHI.
Options :

Head

;:'_ﬁt-‘ﬂ)vsl_}

Heart

@) swib

Hand

Knowledge

9| plsy

Question Number : 148 Question Id : 7150535812 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following represents theoretical knowledge

Lilsirsu Heusrsunlsb spsirmy GariurlLplsweu Lrglpsssliu®s5% D5

Options :



Concepts

5 (5 51 BT
1.

Direct gbservation

Cmrigd Heusufiliy

2. %
Instrumental gbservation
(ol FTi SHsustlliy
3 %
Faect
2_enTsmDd H(HbHHI
4. %

Question Number : 149 Question Id : 7150535813 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following 1s NOT a criteria for a successful project at school level
Ulsitsu meusrsummled spsitm, usiraf]l Blamsvullsh BLSSOURD F S Liswflullsr
Oaupn&Es CsTersmiu®n aflFlssfsd HLTwss.

Options:

it shpuld be relevant to the needs of the student

B3 wrswrsui Sefisim GHeneusarfisim o igliusnL sy gen o Geusir(Hib.
1. %



it should be rewarding to the student

B)5I WwrsmTsuTS6ilsiT HDsMIndF WaTHs» DY YafLILFSTS () s Geausr(Hib.

1t can be expensive for getting best results

3 FpUiurer (pigsmaull BlumisusnF B GlumeEs6lFsvsy Ly @b,

1t should be practicable

Bla pwL(psmm FTESWLTNSTH F)(H55 Csusir(Hib.

Question Number : 150 Question Id : 7150535814 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A science teacher has received hydrochloric acid, copper sulphate and magnesium
wire from the management for use m the science laboratory. The teacher should

make entry of these things in the

o grflaflwsd g Aflwr, Guarsirsnins GualLBlFHE gydlaliusd &L 53sr
LwsTuTL Y Hars smanly GrrEGsrrils gufleib, sriuf Fhenul wHmb
wéafFwb G Cupprr. Faunsepll ugley ClFiw g Al LwsTURSSHID
u5Gsu (R

Options :

Brealable stock register

2_spLujb GlummLseaflst &)Uyl usGsu(

Consumable stock register

v KIS (LweTuBin) Gurplsefsr B)muyl uslGsu®
2.



Permanent stock register

EMEVILITEIT (BT (HL_H6i 6T LIy ug Gsu(®
@ mHuLy
3 %

Order stock register

ITRISLILL L GlurpLlsaflst @) mUyl uglGsulh
4. %



